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AQA AS Biology exam practice answers

2 The digestive system

1
(a)
The left-hand graph shows the competitive inhibitor. The right-hand graph shows the non-competitive inhibitor.

[1]

(b)
The effect of a competitive inhibitor can be overcome by adding more substrate, so a maximum 
rate of reaction can be achieved.

[2]
2
Starch and glycogen are made from just one monomer, glucose. Proteins are made from 20 different monomers/amino acids. 

[2]
3
Glycogen molecules are too large to pass across cell membranes (so they stay inside cells). 

[2]
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